NBEFFEANAB AR YH—HE (‘*“\ DREAM
,A\Ecﬁaﬁ ‘l BrHINOHMIND
2EW
BRI7E EEHZEARLFIYI—RFIEAES 1EIE[S5])
| 2015411 A7H(1) 1400 [EHAMI909 ER205 PKE; 2152 MATHFRFHABEELFERES =88
EERES & B 212°C 8 E [ 58% FREE EvF(E) (BE | EvF(RE) 5718
TyFaIviat— kK &8 * B N ED BlE2—K FIi& EEELI R ER BHEN
BHT7 vy — EH BF Bl E 1 iHE £5F HoENa TS HHEH RRELiLEF FE 280 A
0 Bl 3 0
ALY ALTA—R1—R 0 0 % ¥ 0 0 JFAZHTS—8BR
(BA®2/1§E) 0 ERATH 0 (Rm3/h) KICK OFF
0 ERZE 0 EEKICK OFF
5 PKEK 4
%z R T1—F =l . ol 5 ; B T1i—F % K
No.lOUTE M| maTERT & 1 1 5| A 2F4A HHHE EFA &[5 31 & meEa[ouTEE No,
0 WA BEXF 21| ck|Gk| 1B X 0
0 BK LBH 2|DF|DF| 4|45:8 EMf (Cap.) 0
0 7 #iE (Cap.) 5|DF|DF| 14|75 M & 0
0 RIE BE 19| DF|DF| 16|F % x4 = 0
0 =K BF 22| DF|MF| 2|dhiE #EZK 0 639
90+14> 0 SH HBER 10|mMF|MF| 8|FH & 2/ 1 1
1065 0 =ik 2 11|MF|MF| 9|3zt % 1 1
1 3 1] 5 KiF HEH0 13|MF|MF| 10{3L)Il B-HB 3 12
615 0 —kEm RE 32(MFIMF| 13| E#E IR 0 108%
20 1i 1 4 TR ME T FW|MF| 25|8iE == 0
20 2| 4 g 9|Fw]Fw| 5|HEHE 1&FIF 0 5%
#K EFF 1| aK]GK| 12| R R— =
32 1 1 2 AR EEF 3| DF| DF | 26|F9h% Bk 2 1 1 2
®Mm 5 6| MF|MF| 28| = FHH 0 13
10 0 BB =i 36| MF]FW| 6|3k K E&ZE 0 5
11 0 JAR1)-1% 24| FW|Fw| 19|1EE £5F
=& 8 ER ER =& 8
Tt E AF 1T
EIE & B L EBIEE
R T LU g o
3 20 70 3 15 a—k| 8 2. 4 0 2
11 0 3 3 7 GK 9 3 5 0 1
0 3 2. 1 6 CK 1 0 10 0 0
0i 0 1i 3 4 HEEFK 5 1i 4 0 0
0i 0i 3 1| 4 mEFK 1, 1i 0 0 0
0i 0 30 1 4G 1T o 0l 0
0f 0f 00 0 0 PK 0 0 0 0i 0
BaEE BaF—L [No. BaE BARE Rbl: ~FJJIL —>T0/RK 1 F=B/NA X BB Sa—F HATAUT
P KEBDEB 1 2 3 4 5 6 7 8 9 10 11 12 13 14
7h¥i— |%|4 O|9 O|10 O|14 x|8 O
LyX1—2X 5 O O|2 o2 o138 O
B0 B7345:10(0:10), #%F48:26(3:26), LRAIF10:05(0:05), EREFE1:15(1:15), AEFERR 2:25:48

[E=]




